KL pipipi0 background



PtZ plot (g10 at cc03 cut)

Sensitivity : ~40 X S.M. (2015 Total Data)
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newBHCV veto(g10 at cc03 cut)

* too high threshold for newBHCV (1e3 eV)
— Threshold change : 1e3 eV -> 884/4 eV
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newBHCV veto(g10 at ccO3 not cut)
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Sensitivity : ~40 X S.M. (2015 Total Data)
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Run69 BG estimation

 Data:1.27e18 (P.O.T.) * 4.11e7/2e14(KL
yield)

 M.C.:2e7(#KLs) * 1e3(#files) / 0.1254(Br)
(*500(Recycle))
— Accidentals from Period 1.
— Keep producing M.C.



Rec ' P, [MeV/c]

Run69 all
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Rec ' P, [MeV/c]

Run69 all(without BPCV)
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Rec 1’ P, [MeV/c]

Run69 Recycle
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Rec " P, [MeV/c]

Run69 Recycle(without BPCV)
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